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Sem-VI Diploma Exam 2024 (Even)

[Time: 3 Hours] (Electronics Engg.) (Theory)

Computer Networking and Data Communication
(2021602-P)
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[Full. Marks: 70]

Q.1 Answer all questions as directed. (2*%10=20) Marks CO| BL
(Frorgam |t Tt 3 I )
In the OSI reference model, network layer is between layer and| 2 1 1
a) layer. (data link /session /transport /physical)
OS] ©e¥f diea #, Jeas wa WA 3T T o sff Bt R
(31 fofer / T / gradié / itfaen)
b) A hybrid topology is always produced when four different basic network 2 1 2
topologies are connected. (True/False)
T BIEI5E TSI GHIT A9 I~ Bldl & SIol = 3AHT-STeRT Hifceh Heaeh Zraretsi g ald & (W& /
Terd)
c) In bit DAC, reference voltage is 10V. If binary data 1001 is applied then 2 2 3
output voltage is . (4/6/5/8)
( fse DAC #, devf aieest 10V 21 3fe amgwdt <21 1001 <0 grar @ @1 A1seye dieest
&I 2
4/6/5/8)
d)In Bluetooth, multiple form a network called a 2 3 2
(scatternet / piconets / bluenet)
S H, T T Hedeh oI © o T ST 2
(wetie / fepiied / se)
€) Microwaves are used in night vision goggles. (True / False) 2 3 2
Tl gfS Ivd & ATgshiaa T ST foRaT ST R (FE / )
f) IEEE standard 802.15 and 802.16 are for and 2 3 1
respectively.
(Bluetooth / Wi-Fi / cellular technologies)
IEEE == 802.15 iR 802.16 s 3R LRSI
(5T / ATE-HTE / TR A1)
g) IPv4 address and IPv6 address are bit and bit long 2 4 1
respectively. (32 /64 / 128 / 256)
[Pv4 war s [Pv6 gar s fore iR fore el 31t &
(32/64/128/256)
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h)

i)

)

Q.2

Q.3

Q4

Hamming codes can be used for both single-bit error and burst error detection
and correction. (True / False)

T Rl T TN Rier-fore FfE S s Ffe o1 ot AT I g ST o fo e S wskar

Bl (8 / o)

Select the network layer protocol.
(TCP/IP/ UDP)

T TR WEIRIc T T L,
(TCP/IP/ UDP)

cable carries signals of higher frequency ranges than
cable. (coaxial/copper / Twisted-pair)

B S 31 T H Fod ST I o el agaT! ol (SHTafiar
/ ta / sAmEfda gw)

Group (B) (7w )
Answer all five questions. (&t uter sit & 3w &) 4*5=20

Explain layered architecture of the OSI model with the functions of various
layers.

forfsr= weat & st & g OS] Hied & it Tifehed=r Y st
OR (tean)

Explain mesh topology with its features.
HYT TSI 3T 3HhT feRyaTett afed e i

Calculate the resolution of
1) 6 bit DAC and 11)12 bit DAC in terms of percentage. (Use reference
voltage=10V)
SITeRTA o €W H IR 3T TTUMT L
1) 6 fse DAC 3t ii) 12 fae DAC! (de¥ dieest = 10V & 3uanm =)
OR (eteram)

Define Sampling and Quantization.

Fofeit ST giwmofiRr i afeTiva il

Explain the full duplex transmission mode with suitable diagram.
U7 S AR HIS i 3T STNE o 81 AT il
OR (tean)

Describe the process of quantization of analog to digital conversion.
AT @ fefSreet wuiaror it ufshan § gfwmoiissor s g )
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Q.5

Q.6

Q.7

Q.8

Q.9

Q.10

Explain the IEEE standards for Bluetooth and WI-Fi.

e AR aE-%Ts o for [EEE #rehi it =ame sl
OR (tean)

Describe the characteristics of wireless channel.

AR < s forreard eh1 ot Ry

Explain the structural diagram of fiber optic cable and write its functions.

TSI JATTCEh SheleT o STaE-artl] STRE shi SUTEAT i I 36k [ ford|
OR (312r@)

Describe the process of crash recovery.
ShaT Trepart st Wfskam T =i
Group (C) (77 - #)

Answer all five questions. ((@sft ufer T2t 3 3w 3[)|) 6*5=30

Explain architecture for network using tree topology for an office in 3 -
Storey building with suitable diagram.

3-wfSraT SR % Uk HRITer o foTT &SIttt T SUART e "2ereh SATfehedrer i IWRIH A
o |1 SATEAT i)

OR (3121@)

Describe the computer network used in data communication.
T HAR H I H e I AU

Explain microwave transmission with its advantages and disadvantages.

HTgshaa AT <l 36 oTv 31T 21 3 |rer <Ameat |
OR(3rEm)

Explain mobile IP with suitable diagram.

ez [P a1 37 i wfed sme 1)

Compare packet switching and circuit switching and write advantage and|
disadvantage of each.

ere feafe ofi ftaer fafi & qorm it oit g & o ofiv =1fy fordl
OR(zrran)

Compare IPv4 and IPv6 addressing Schemes. Write the need of [Pv6 in
addressing.

[Pv4 3 IPv6 ugftin whim =t gor il [Pv6 g At sraessar fore)

Explain checksum error detection mechanism with a suitable example.

T ITH ISTEX0T o TT <HaH (S TAT TR shi TRaTierter i e il
OR (etean)

Describe the features of network layer and network layer protocols.
eI TR IR A2aeh IR Werehial i forerearaty st aui i

4 3
4 3
4 5
4 5
6 1
6 1
6 3
6 3
6 4
6 4
6 4
6 4
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Q.11 Explain the structural diagram of twisted pair cable and write its 6 5
feature.
STafdd I hecl I Sae-Heel G i ARG L T Fah forroar ford|

OR(312raT)

Explain the role of addressing in a communication protocol and write 6 5
its importance for data delivery.

AR S § TSl s i it e sk Ser feefiadt & fo swe qe o
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